Williamson County Road Bond Program 11WC915 - SH 29 Two-Way Left Turn Lane HNTB Bid Tabulation September 13, 2011

Bid Comparison

Bidder	Bid Amount	Rank	Difference from Engineer's Estimate (\$)	Difference from Engineer's Estimate (%)	Difference from Low Bid (\$)	Difference from Low Bid (%)
JOE BLAND	\$ 2,981,784.92	1	\$ (255,031.23)	-7.88%	-	-
CAPITAL EXCAVATION	\$ 2,998,207.33	2	\$ (238,608.82)	-7.37%	\$ 16,422.41	0.55%
AUSTIN ENGINEERING	\$ 3,175,208.01	3	\$ (61,608.14)	-1.9%	\$ 193,423.09	6.5%
RGM CONSTRUCTORS	\$ 3,265,523.25	4	\$ 28,707.10	0.9%	\$ 283,738.33	9.5%
DAN WILLIAMS COMPANY	\$ 3,281,532.66	5	\$ 44,716.51	1.4%	\$ 299,747.74	10.1%
ANDERSON COLUMBIA	\$ 3,377,183.50	6	\$ 140,367.35	4.3%	\$ 395,398.58	13.3%
CASH CONSTRUCTION	\$ 3,721,092.00	7	\$ 484,275.85	15.0%	\$ 739,307.08	24.8%

BID	TECH	DESCRIPTION	BID	UNIT	ENGINEER'S	S ESTIMATE	JOE BI	LAND	CAPITAL EX	CAVATION	AUSTIN ENG	INEERING
ITEM	SPEC		QUANTITY	MEASURE	UNIT COST	AMOUNT BID						
1	100-2002	PREPARING ROW	92.0	STA	\$650.00	\$59,800.00	\$500.00	\$46,000.00	\$1,000.00	\$92,000.00	\$281.50	\$25,898.00
2	104-2009	REMOVING CONC (RIPRAP)	1,191.0	SY	\$9.00	\$10,719.00	\$7.00	\$8,337.00	\$5.50	\$6,550.50	\$17.80	\$21,199.80
3	110-2001	EXCAVATION (ROADWAY)	21,905	CY	\$7.00	\$153,335.00	\$10.00	\$219,050.00	\$8.00	\$175,240.00	\$7.80	\$170,859.00
4	132-2005	EMBANKMENT (FINAL) (ORD COMP) (TY C)	6,369	CY	\$8.00	\$50,952.00	\$8.00	\$50,952.00	\$14.00	\$89,166.00	\$6.70	\$42,672.30
5	160-2003	FURNISHING AND PLACING TOPSOIL (4")	48,475	SY	\$1.25	\$60,593.75	\$1.30	\$63,017.50	\$1.75	\$84,831.25	\$1.50	\$72,712.50
6	164-2039	DRILL SEEDING (PERM) (URBAN) (CLAY)	48,475	SY	\$0.25	\$12,118.75	\$0.16	\$7,756.00	\$0.65	\$31,508.75	\$0.16	\$7,756.00
7	164-2041	DRILL SEEDING (TEMP) (WARM)	24,238	SY	\$0.25	\$6,059.50	\$0.14	\$3,393.32	\$0.08	\$1,939.04	\$0.16	\$3,878.08
8	164-2043	DRILL SEEDING (TEMP) (COOL)	24,328	SY	\$0.25	\$6,082.00	\$0.14	\$3,405.92	\$0.08	\$1,946.24	\$0.16	\$3,892.48
9	169-2001	SOIL RETENTION BLANKETS (CL 1) (TY A)	4,804	SY	\$1.00	\$4,804.00	\$1.50	\$7,206.00	\$1.50	\$7,206.00	\$0.80	\$3,843.20
10	247-2366	FL BS (CMP IN PLC) (TY A GR 5) (FNAL POS)	8,243.0	CY	\$35.00	\$288,505.00	\$31.00	\$255,533.00	\$28.00	\$230,804.00	\$36.20	\$298,396.60
11	310-2005	PRIME COAT (MC-30 OR AE-P)	4,761	GAL	\$4.15	\$19,758.15	\$4.10	\$19,520.10	\$4.00	\$19,044.00	\$4.10	\$19,520.10
12	316-2239	AGGR (TY-PD GR-4 SAC-B)	569	CY	\$54.00	\$30,726.00	\$73.00	\$41,537.00	\$68.00	\$38,692.00	\$73.50	\$41,821.50
13	316-2694	ASHP (AC-20-5TR, AC-20XP OR AC-15-P)	27,285	GAL	\$3.40	\$92,769.00	\$4.00	\$109,140.00	\$3.75	\$102,318.75	\$4.00	\$109,140.00
14	341-2011	D-GR HMA (QCQA) TY-B PG64-22	5,430	TON	\$55.00	\$298,650.00	\$56.00	\$304,080.00	\$52.00	\$282,360.00	\$56.30	\$305,709.00
15	341-2048	D-GR HMA (QCQA) TY-C SAC-B PG70-22	11,245	TON	\$60.00	\$674,700.00	\$58.00	\$652,210.00	\$54.00	\$607,230.00	\$58.50	\$657,832.50
16	432-2002	RIPRAP (CONC) (5 IN)	503.7	CY	\$335.00	\$168,739.50	\$255.00	\$128,443.50	\$275.00	\$138,517.50	\$452.70	\$228,024.99
17	432-2039	RIPRAP (MOW STRIP) (4 IN)	163.3	CY	\$425.00	\$69,402.50	\$285.00	\$46,540.50	\$350.00	\$57,155.00	\$298.40	\$48,728.72
18	462-2001	CONC BOX CULV (3FT X 2FT)	30.0	LF	\$150.00	\$4,500.00	\$130.00	\$3,900.00	\$160.00	\$4,800.00	\$185.30	\$5,559.00
19	462-2003	CONC BOX CULV (4FT X 2FT)	62.0	LF	\$155.00	\$9,610.00	\$140.00	\$8,680.00	\$170.00	\$10,540.00	\$201.00	\$12,462.00
20	462-2004	CONC BOX CULV (4FT X 3FT)	188.0	LF	\$160.00	\$30,080.00	\$177.00	\$33,276.00	\$200.00	\$37,600.00	\$216.80	\$40,758.40
21	462-2007	CONC BOX CULV (5FT X 3FT)	56.0	LF	\$170.00	\$9,520.00	\$170.00	\$9,520.00	\$210.00	\$11,760.00	\$285.80	\$16,004.80
22	462-2010	CONC BOX CULV (6FT X 3FT)	46.0	LF	\$200.00	\$9,200.00	\$210.00	\$9,660.00	\$280.00	\$12,880.00	\$354.00	\$16,284.00
23	462-2029	CONC BOX CULV (10FT X 5FT)	24.0	LF	\$400.00	\$9,600.00	\$1,050.00	\$25,200.00	\$660.00	\$15,840.00	\$2,261.25	\$54,270.00
24	462-2053	CONC BOX CULV (10FT X 4FT)	39.0	LF	\$375.00	\$14,625.00	\$760.00	\$29,640.00	\$500.00	\$19,500.00	\$2,148.60	\$83,795.40
25	462-WC01	CONC BOX CULV (10FT X 6.5FT)	6.0	LF	\$500.00	\$3,000.00	\$1,090.00	\$6,540.00	\$1,100.00	\$6,600.00	\$1,050.00	\$6,300.00
26	464-2021	RC PIPE (CL IV) (18 IN)	338.0	LF	\$45.00	\$15,210.00	\$62.00	\$20,956.00	\$55.00	\$18,590.00	\$47.60	\$16,088.80
27	464-2022	RC PIPE (CL IV) (24 IN)	118.0	LF	\$50.00	\$5,900.00	\$69.00	\$8,142.00	\$70.00	\$8,260.00	\$64.25	\$7,581.50
28	464-2028	RC PIPE (CL IV) (48 IN)	30.0	LF	\$135.00	\$4,050.00	\$180.00	\$5,400.00	\$165.00	\$4,950.00	\$176.60	\$5,298.00
29	464-2098	RC PIPE (ARCH (CL IV) (DES 1)	19.0	LF	\$72.00	\$1,368.00	\$172.00	\$3,268.00	\$120.00	\$2,280.00	\$154.30	\$2,931.70
30	464-2102	RC PIPE (ARCH (CL IV) (DES 5)	26.0	LF	\$130.00	\$3,380.00	\$247.00	\$6,422.00	\$190.00	\$4,940.00	\$215.50	\$5,603.00
31	464-2103	RC PIPE (ARCH (CL IV) (DES 6)	110.0	LF	\$150.00	\$16,500.00	\$267.00	\$29,370.00	\$220.00	\$24,200.00	\$80.30	\$8,833.00
32	466-2049	WINGWALL (PW) (HW=5FT)	1.0	EA	\$7,000.00	\$7,000.00	\$7,000.00	\$7,000.00	\$4,500.00	\$4,500.00	\$5,405.00	\$5,405.00
33	466-2050	WINGWALL (PW) (HW=6FT)	1.0	EA	\$8,500.00	\$8,500.00	\$9,000.00	\$9,000.00	\$8,000.00	\$8,000.00	\$10,612.60	\$10,612.60
34	466-2051	WINGWALL (PW) (HW=7FT)	1.0	EA	\$9,000.00	\$9,000.00	\$12,000.00	\$12,000.00	\$10,000.00	\$10,000.00	\$13,044.00	\$13,044.00
35	466-2052	WINGWALL (PW) (HW=8FT)	1.0	EA	\$14,000.00	\$14,000.00	\$18,000.00	\$18,000.00	\$15,000.00	\$15,000.00	\$13,972.00	\$13,972.00
36	466-2053	WINGWALL (PW) (HW=9FT)	3.0	EA	\$16,000.00	\$48,000.00	\$22,000.00	\$66,000.00	\$17,000.00	\$51,000.00	\$17,230.00	\$51,690.00

BID	TECH	DESCRIPTION	BID	UNIT	ENGINEER'S	S ESTIMATE	JOE B	LAND	CAPITAL EX	CAVATION	AUSTIN ENG	INEERING
ITEM	SPEC		QUANTITY	MEASURE	UNIT COST	AMOUNT BID						
37	466-2055	WINGWALL (PW) (HW=11FT)	1.0	EA	\$27,000.00	\$27,000.00	\$24,000.00	\$24,000.00	\$28,000.00	\$28,000.00	\$28,953.00	\$28,953.00
38	466-2056	WINGWALL (PW) (=12FT)	2.0	EA	\$29,000.00	\$58,000.00	\$25,000.00	\$50,000.00	\$30,000.00	\$60,000.00	\$31,691.00	\$63,382.00
39	467-2172	SET (TY I)(S=3 FT)(HW=3FT)(6:1)(P)	2.0	EA	\$3,500.00	\$7,000.00	\$4,600.00	\$9,200.00	\$4,200.00	\$8,400.00	\$3,120.50	\$6,241.00
40	467-2177	SET (TY I)(S=4 FT)(HW=3FT)(6:1)(P)	4.0	EA	\$4,500.00	\$18,000.00	\$6,000.00	\$24,000.00	\$4,600.00	\$18,400.00	\$4,437.00	\$17,748.00
41	467-2178	SET (TY I)(S=4 FT)(HW=4FT)(6:1)(P)	10.0	EA	\$5,500.00	\$55,000.00	\$6,200.00	\$62,000.00	\$5,300.00	\$53,000.00	\$5,491.00	\$54,910.00
42	467-2183	SET (TY I)(S=5 FT)(HW=4FT)(6:1)(P)	2.0	EA	\$6,500.00	\$13,000.00	\$6,700.00	\$13,400.00	\$5,600.00	\$11,200.00	\$6,036.00	\$12,072.00
43	467-2188	SET (TY I)(S=6 FT)(HW=4FT)(6:1)(P)	2.0	EA	\$8,000.00	\$16,000.00	\$7,300.00	\$14,600.00	\$7,500.00	\$15,000.00	\$6,706.00	\$13,412.00
44	467-2286	SET (TY II)(18 IN)(RCP)(6:1)(P)	20.0	EA	\$750.00	\$15,000.00	\$800.00	\$16,000.00	\$810.00	\$16,200.00	\$788.30	\$15,766.00
45	467-2288	SET (TY II)(24 IN)(RCP)(6:1)(P)	8.0	EA	\$1,000.00	\$8,000.00	\$900.00	\$7,200.00	\$1,100.00	\$8,800.00	\$900.00	\$7,200.00
46	467-2294	SET (TY II)(48 IN)(RCP)(6:1)(P)	2.0	EA	\$5,400.00	\$10,800.00	\$4,500.00	\$9,000.00	\$4,100.00	\$8,200.00	\$3,940.00	\$7,880.00
47	467-2365	SET (TY II)(DES 6)(RCP)(6:1)(P)	4.0	EA	\$3,800.00	\$15,200.00	\$3,300.00	\$13,200.00	\$3,700.00	\$14,800.00	\$2,927.00	\$11,708.00
48	467-2371	SET (TY II)(DES 1)(RCP)(6:1)(P)	2.0	EA	\$2,500.00	\$5,000.00	\$1,600.00	\$3,200.00	\$1,000.00	\$2,000.00	\$844.50	\$1,689.00
49	467-WC01	SET (TY II)(DES 5)(RCP)(6:1)(P)	2.0	EA	\$3,200.00	\$6,400.00	\$3,000.00	\$6,000.00	\$2,900.00	\$5,800.00	\$2,365.00	\$4,730.00
50	496-2004	REMOV STR (SET)	58.0	EA	\$420.00	\$24,360.00	\$85.00	\$4,930.00	\$250.00	\$14,500.00	\$84.00	\$4,872.00
51	496-2005	REMOV STR (WINGWALL)	10.0	EA	\$1,000.00	\$10,000.00	\$935.00	\$9,350.00	\$1,200.00	\$12,000.00	\$629.00	\$6,290.00
52	496-2007	REMOV STR (PIPE)	1,112.0	LF	\$13.00	\$14,456.00	\$7.00	\$7,784.00	\$8.00	\$8,896.00	\$13.50	\$15,012.00
53	500-2001	MOBILIZATION	1.0	LS	\$294,250.00	\$294,250.00	\$120,000.00	\$120,000.00	\$201,000.00	\$201,000.00	\$210,022.52	\$210,022.52
54	502-2001	BARRICADES, SIGNS, AND TRAFFIC HANDLING	9.0	MO	\$5,000.00	\$45,000.00	\$3,200.00	\$28,800.00	\$2,000.00	\$18,000.00	\$2,000.00	\$18,000.00
55	506-2002	ROCK FILTER DAMS (INSTALL) (TY 2)	853.0	LF	\$16.00	\$13,648.00	\$14.00	\$11,942.00	\$20.00	\$17,060.00	\$16.30	\$13,903.90
56	506-2009	ROCK FILTER DAMS (REMOVE)	853.0	LF	\$5.50	\$4,691.50	\$5.00	\$4,265.00	\$5.00	\$4,265.00	\$5.00	\$4,265.00
57	506-2016	CONSTRUCTION EXITS (INSTALL) (TY 1)	300.0	SY	\$15.00	\$4,500.00	\$6.00	\$1,800.00	\$10.00	\$3,000.00	\$10.20	\$3,060.00
58	506-2019	CONSTRUCTION EXITS (REMOVE)	300.0	SY	\$5.00	\$1,500.00	\$4.00	\$1,200.00	\$5.00	\$1,500.00	\$4.50	\$1,350.00
59	506-2024	BACKHOE WORK (EROSION & SEDM CONT)	150.0	HR	\$55.00	\$8,250.00	\$74.00	\$11,100.00	\$55.00	\$8,250.00	\$60.00	\$9,000.00
60	506-2034	TEMPORARY SEDIMENT CONTROL FENCE	5,447.0	LF	\$3.00	\$16,341.00	\$1.40	\$7,625.80	\$2.00	\$10,894.00	\$1.40	\$7,625.80
61	530-2005	INTERSECTIONS (ACP)	378	SY	\$35.00	\$13,230.00	\$65.00	\$24,570.00	\$40.00	\$15,120.00	\$25.00	\$9,450.00
62	530-2010	DRIVEWAYS (CONC)	395	SY	\$90.00	\$35,550.00	\$64.00	\$25,280.00	\$60.00	\$23,700.00	\$60.00	\$23,700.00
63	530-2011	DRIVEWAYS (ACP)	1,359	SY	\$80.00	\$108,720.00	\$31.00	\$42,129.00	\$30.00	\$40,770.00	\$11.00	\$14,949.00
64	530-2012	DRIVEWAYS (SURF TREAT)	432.0	SY	\$40.00	\$17,280.00	\$26.00	\$11,232.00	\$22.00	\$9,504.00	\$4.50	\$1,944.00
65	530-2017	TURNOUTS (ACP)	160.0	SY	\$50.00	\$8,000.00	\$110.00	\$17,600.00	\$40.00	\$6,400.00	\$180.00	\$28,800.00
66	540-2001	MTL W-BEAM GD FEN (TIM POST)	2,112.5	LF	\$16.00	\$33,800.00	\$16.00	\$33,800.00	\$16.00	\$33,800.00	\$16.50	\$34,856.25
67	540-2003	MTL THRIE-BEAM GD FEN (TIM POST)	50.00	LF	\$55.00	\$2,750.00	\$30.00	\$1,500.00	\$29.00	\$1,450.00	\$25.35	\$1,267.50
68	540-2005	TERMINAL ANCHOR SECTION	10.00	EA	\$425.00	\$4,250.00	\$500.00	\$5,000.00	\$460.00	\$4,600.00	\$479.00	\$4,790.00
69	540-2011	MTL BEAM GD FEN TRANS (THRIE-BEAM)	2.00	EA	\$1,325.00	\$2,650.00	\$800.00	\$1,600.00	\$725.00	\$1,450.00	\$1,408.00	\$2,816.00
70	540-2014	MTL W-BEAM GD FEN (LOW FILL CULVERT)	75.0	LF	\$40.00	\$3,000.00	\$40.00	\$3,000.00	\$40.00	\$3,000.00	\$33.80	\$2,535.00
71	542-2001	REMOVING METAL BEAM GUARD FENCE	700.0	LF	\$1.50	\$1,050.00	\$1.20	\$840.00	\$1.00	\$700.00	\$2.00	\$1,400.00
72	544-2001	GUARDRAIL END TREATMENT (INSTALL)	10.0	EA	\$2,000.00	\$20,000.00	\$2,300.00	\$23,000.00	\$2,085.00	\$20,850.00	\$2,055.00	\$20,550.00

11WC915-HNTB_Bid_Analysis-20110901.xls Page 3 of 9

BID ITEM	TECH SPEC	DESCRIPTION	BID QUANTITY	UNIT MEASURE	ENGINEER'	S ESTIMATE	JOE BI	LAND	CAPITAL EX	CAVATION	AUSTIN ENG	SINEERING
IIEW	SPEC		QUANTITY	WEASURE	UNIT COST	AMOUNT BID	UNIT COST	AMOUNT BID	UNIT COST	AMOUNT BID	UNIT COST	AMOUNT BID
73	544-2003	GUARDRAIL END TREATEMENT (REMOVE)	6.0	EA	\$210.00	\$1,260.00	\$140.00	\$840.00	\$130.00	\$780.00	\$158.00	\$948.00
74	552-2001	WIRE FENCE (TY A)	502.0	LF	\$12.00	\$6,024.00	\$8.00	\$4,016.00	\$7.00	\$3,514.00	\$8.45	\$4,241.90
75	560-2001	MAILBOX INSTALLATION (SINGLE)	6	EA	\$150.00	\$900.00	\$170.00	\$1,020.00	\$150.00	\$900.00	\$152.00	\$912.00
76	560-2002	MAILBOX INSTALLATION (DOUBLE)	3	EA	\$175.00	\$525.00	\$340.00	\$1,020.00	\$300.00	\$900.00	\$208.50	\$625.50
77	560-2003	MAILBOX INSTALLATION (MULTIPLE)	5	EA	\$275.00	\$1,375.00	\$570.00	\$2,850.00	\$500.00	\$2,500.00	\$557.50	\$2,787.50
78	644-2001	INS SM RD SN SUP&AM TY 10BWG(1) SA(P)	3	EA	\$350.00	\$1,050.00	\$350.00	\$1,050.00	\$340.00	\$1,020.00	\$366.00	\$1,098.00
79	644-2004	INS SM RD SN SUP&AM TY 10BWG(1) SA(T)	1	EA	\$475.00	\$475.00	\$370.00	\$370.00	\$365.00	\$365.00	\$495.50	\$495.50
80	644-2056	RELOCATE SM RD SN SUP & AM TY 10BWG	13	EA	\$295.00	\$3,835.00	\$300.00	\$3,900.00	\$275.00	\$3,575.00	\$282.00	\$3,666.00
81	644-2061	RELOCATE SM RD SN SUP & AM (HIST MRKR)	1	EA	\$300.00	\$300.00	\$400.00	\$400.00	\$375.00	\$375.00	\$338.00	\$338.00
82	658-2260	INSTL DEL ASSM (D-SW)SZ (TYC)GF1	34	EA	\$16.00	\$544.00	\$22.00	\$748.00	\$20.00	\$680.00	\$17.00	\$578.00
83	658-2314	INSTL OM ASSM (OM-2X)(WC) GND	54	EA	\$42.00	\$2,268.00	\$50.00	\$2,700.00	\$45.00	\$2,430.00	\$45.00	\$2,430.00
84	662-2113	WK ZN PAV MRK SHT TERM (TAB) TY W	460	EA	\$1.15	\$529.00	\$2.30	\$1,058.00	\$1.00	\$460.00	\$0.40	\$184.00
85	662-2115	WK ZN PAV MRK SHT TERM (TAB) TY Y-2	460	EA	\$1.15	\$529.00	\$2.30	\$1,058.00	\$1.00	\$460.00	\$0.40	\$184.00
86	666-2002	REFL PAV MRK TY I (W) 4" (BRK)(090MIL)	4,510	LF	\$0.55	\$2,480.50	\$0.40	\$1,804.00	\$0.46	\$2,074.60	\$0.40	\$1,804.00
87	666-2011	REFL PAV MRK TY I (W) 4" (SLD)(090 MIL)	18,213	LF	\$0.45	\$8,195.85	\$0.40	\$7,285.20	\$0.42	\$7,649.46	\$0.40	\$7,285.20
88	666-2035	REFL PAV MRK TY I (W) 8" (SLD)(090 MIL)	10	LF	\$1.50	\$15.00	\$2.30	\$23.00	\$2.00	\$20.00	\$2.25	\$22.50
89	666-2047	REFL PAV MRK TY I (W) 24" (SLD)(090 MIL)	250	LF	\$12.00	\$3,000.00	\$7.00	\$1,750.00	\$7.60	\$1,900.00	\$6.85	\$1,712.50
90	666-2104	REFL PAV MRK TY I (Y) 4" (BRK)(090 MIL)	4,270	LF	\$0.55	\$2,348.50	\$0.40	\$1,708.00	\$0.46	\$1,964.20	\$0.40	\$1,708.00
91	666-2110	REFL PAV MRK TY I (Y) 4" (SLD)(090 MIL)	19,229	LF	\$0.45	\$8,653.05	\$0.40	\$7,691.60	\$0.42	\$8,076.18	\$0.40	\$7,691.60
92	666-2131	REFL PAV MRK TY I (Y) 24" (SLD)(090 MIL)	190	LF	\$12.00	\$2,280.00	\$7.00	\$1,330.00	\$6.85	\$1,301.50	\$6.90	\$1,311.00
93	666-2142	REFL PAV MRK TY II (W) 4" (BRK)	4,510	LF	\$0.25	\$1,127.50	\$0.14	\$631.40	\$0.13	\$586.30	\$0.15	\$676.50
94	666-2145	REFL PAV MRK TY II (W) 4" (SLD)	18,213	LF	\$0.30	\$5,463.90	\$0.14	\$2,549.82	\$0.11	\$2,003.43	\$0.15	\$2,731.95
95	666-2153	REFL PAV MRK TY II (W) 8" (SLD)	10	LF	\$0.50	\$5.00	\$1.20	\$12.00	\$2.00	\$20.00	\$1.14	\$11.40
96	666-2157	REFL PAV MRK TY II (W) 24" (SLD)	250	LF	\$2.00	\$500.00	\$3.00	\$750.00	\$1.90	\$475.00	\$2.80	\$700.00
97	666-2176	REFL PAV MRK TY II (Y) 4" (BRK)	4,270	LF	\$0.25	\$1,067.50	\$0.14	\$597.80	\$0.13	\$555.10	\$0.15	\$640.50
98	666-2178	REFL PAV MRK TY II (Y) 4" (SLD)	19,229	LF	\$0.30	\$5,768.70	\$0.14	\$2,692.06	\$0.12	\$2,307.48	\$0.12	\$2,307.48
99	666-2185	REFL PAV MRK TY II (Y) 24" (SLD)	190	LF	\$2.00	\$380.00	\$3.00	\$570.00	\$1.70	\$323.00	\$2.80	\$532.00
100	672-2012	REFL PAV MRKR TY I-C	227	EA	\$4.00	\$908.00	\$4.20	\$953.40	\$3.65	\$828.55	\$4.12	\$935.24
101	672-2015	REFL PAV MRKR TY II-A-A	515.0	EA	\$5.00	\$2,575.00	\$4.20	\$2,163.00	\$3.70	\$1,905.50	\$4.12	\$2,121.80
	TOTAL COS	T OF BASE BID ADJUSTED FOR CORRECTNESS				\$3,236,816.15		\$2,981,784.92		\$2,998,207.33		\$3,175,208.01
	ACTUAL BAS	SE BID PROPOSAL				\$3,236,816.15		\$2,981,784.92		\$2,998,207.33		\$3,175,208.01
	ADJUSTMEN	NT DIFFERENCE				\$0.00		\$0.00		\$0.00		\$0.00
1										l		

Williamson County Road Bond Program 11WC915 - SH 29 Two-Way Left Turn Lane HNTB Bid Tabulation September 13, 2011

BID ITEM	TECH SPEC	TECH DESCRIPTION	BID QUANTITY	UNIT MEASURE			JOE BLAND		CAPITAL EXCAVATION		AUSTIN ENGINEERING	
	0. 20		QUARTIT	MEAGGRE	UNIT COST	AMOUNT BID	UNIT COST	AMOUNT BID	UNIT COST	AMOUNT BID	UNIT COST	AMOUNT BID
	Acknowledger	nent of Addenda:										
	Addendum No	. 1						Yes		Yes		Yes
	Addendum No	. 2						Yes		Yes		Yes
	Bid Bond							Yes		Yes		Yes
	Conflict of Inte	rest Statement						Yes		Yes		Yes
	References (M	limimum of three)						Yes		Yes		Yes

BID ITEM	TECH SPEC	DESCRIPTION	BID QUANTITY	UNIT MEASURE	RGM CONS	TRUCTORS	DAN WILLIAM	IS COMPANY	ANDERSON	COLUMBIA	CASH CONS	TRUCTION
II LIW	31 20		QUARTITI	MILAGOILL	UNIT COST	AMOUNT BID						
1	100-2002	PREPARING ROW	92.0	STA	\$1,500.00	\$138,000.00	\$280.00	\$25,760.00	\$700.00	\$64,400.00	\$930.00	\$85,560.00
2	104-2009	REMOVING CONC (RIPRAP)	1,191.0	SY	\$12.00	\$14,292.00	\$6.95	\$8,277.45	\$7.00	\$8,337.00	\$6.00	\$7,146.00
3	110-2001	EXCAVATION (ROADWAY)	21,905	CY	\$7.95	\$174,144.75	\$15.00	\$328,575.00	\$7.00	\$153,335.00	\$13.00	\$284,765.00
4	132-2005	EMBANKMENT (FINAL) (ORD COMP) (TY C)	6,369	CY	\$10.00	\$63,690.00	\$8.40	\$53,499.60	\$7.00	\$44,583.00	\$5.00	\$31,845.00
5	160-2003	FURNISHING AND PLACING TOPSOIL (4")	48,475	SY	\$1.00	\$48,475.00	\$1.38	\$66,895.50	\$1.70	\$82,407.50	\$2.00	\$96,950.00
6	164-2039	DRILL SEEDING (PERM) (URBAN) (CLAY)	48,475	SY	\$0.24	\$11,634.00	\$0.65	\$31,508.75	\$0.12	\$5,817.00	\$0.20	\$9,695.00
7	164-2041	DRILL SEEDING (TEMP) (WARM)	24,238	SY	\$0.24	\$5,817.12	\$0.62	\$15,027.56	\$0.10	\$2,423.80	\$0.20	\$4,847.60
8	164-2043	DRILL SEEDING (TEMP) (COOL)	24,328	SY	\$0.24	\$5,838.72	\$0.62	\$15,083.36	\$0.10	\$2,432.80	\$0.20	\$4,865.60
9	169-2001	SOIL RETENTION BLANKETS (CL 1) (TY A)	4,804	SY	\$1.10	\$5,284.40	\$1.30	\$6,245.20	\$1.00	\$4,804.00	\$1.00	\$4,804.00
10	247-2366	FL BS (CMP IN PLC) (TY A GR 5) (FNAL POS)	8,243.0	CY	\$30.00	\$247,290.00	\$23.50	\$193,710.50	\$30.00	\$247,290.00	\$58.00	\$478,094.00
11	310-2005	PRIME COAT (MC-30 OR AE-P)	4,761	GAL	\$3.80	\$18,091.80	\$4.44	\$21,138.84	\$4.00	\$19,044.00	\$4.00	\$19,044.00
12	316-2239	AGGR (TY-PD GR-4 SAC-B)	569	CY	\$67.00	\$38,123.00	\$78.85	\$44,865.65	\$68.00	\$38,692.00	\$84.00	\$47,796.00
13	316-2694	ASHP (AC-20-5TR, AC-20XP OR AC-15-P)	27,285	GAL	\$3.65	\$99,590.25	\$4.30	\$117,325.50	\$4.00	\$109,140.00	\$4.00	\$109,140.00
14	341-2011	D-GR HMA (QCQA) TY-B PG64-22	5,430	TON	\$52.00	\$282,360.00	\$60.70	\$329,601.00	\$52.00	\$282,360.00	\$58.00	\$314,940.00
15	341-2048	D-GR HMA (QCQA) TY-C SAC-B PG70-22	11,245	TON	\$54.00	\$607,230.00	\$63.20	\$710,684.00	\$54.00	\$607,230.00	\$63.00	\$708,435.00
16	432-2002	RIPRAP (CONC) (5 IN)	503.7	CY	\$320.00	\$161,184.00	\$325.00	\$163,702.50	\$350.00	\$176,295.00	\$330.00	\$166,221.00
17	432-2039	RIPRAP (MOW STRIP) (4 IN)	163.3	CY	\$425.00	\$69,402.50	\$270.00	\$44,091.00	\$370.00	\$60,421.00	\$470.00	\$76,751.00
18	462-2001	CONC BOX CULV (3FT X 2FT)	30.0	LF	\$220.00	\$6,600.00	\$153.00	\$4,590.00	\$430.00	\$12,900.00	\$300.00	\$9,000.00
19	462-2003	CONC BOX CULV (4FT X 2FT)	62.0	LF	\$165.00	\$10,230.00	\$154.00	\$9,548.00	\$460.00	\$28,520.00	\$320.00	\$19,840.00
20	462-2004	CONC BOX CULV (4FT X 3FT)	188.0	LF	\$170.00	\$31,960.00	\$225.00	\$42,300.00	\$430.00	\$80,840.00	\$280.00	\$52,640.00
21	462-2007	CONC BOX CULV (5FT X 3FT)	56.0	LF	\$210.00	\$11,760.00	\$200.00	\$11,200.00	\$620.00	\$34,720.00	\$390.00	\$21,840.00
22	462-2010	CONC BOX CULV (6FT X 3FT)	46.0	LF	\$255.00	\$11,730.00	\$260.00	\$11,960.00	\$520.00	\$23,920.00	\$380.00	\$17,480.00
23	462-2029	CONC BOX CULV (10FT X 5FT)	24.0	LF	\$740.00	\$17,760.00	\$595.00	\$14,280.00	\$920.00	\$22,080.00	\$1,100.00	\$26,400.00
24	462-2053	CONC BOX CULV (10FT X 4FT)	39.0	LF	\$550.00	\$21,450.00	\$535.00	\$20,865.00	\$860.00	\$33,540.00	\$900.00	\$35,100.00
25	462-WC01	CONC BOX CULV (10FT X 6.5FT)	6.0	LF	\$1,500.00	\$9,000.00	\$955.00	\$5,730.00	\$1,700.00	\$10,200.00	\$1,500.00	\$9,000.00
26	464-2021	RC PIPE (CL IV) (18 IN)	338.0	LF	\$65.00	\$21,970.00	\$45.00	\$15,210.00	\$40.00	\$13,520.00	\$80.00	\$27,040.00
27	464-2022	RC PIPE (CL IV) (24 IN)	118.0	LF	\$75.00	\$8,850.00	\$93.00	\$10,974.00	\$88.00	\$10,384.00	\$100.00	\$11,800.00
28	464-2028	RC PIPE (CL IV) (48 IN)	30.0	LF	\$165.00	\$4,950.00	\$185.00	\$5,550.00	\$264.00	\$7,920.00	\$250.00	\$7,500.00
29	464-2098	RC PIPE (ARCH (CL IV) (DES 1)	19.0	LF	\$145.00	\$2,755.00	\$93.00	\$1,767.00	\$110.00	\$2,090.00	\$160.00	\$3,040.00
30	464-2102	RC PIPE (ARCH (CL IV) (DES 5)	26.0	LF	\$250.00	\$6,500.00	\$192.00	\$4,992.00	\$190.00	\$4,940.00	\$260.00	\$6,760.00
31	464-2103	RC PIPE (ARCH (CL IV) (DES 6)	110.0	LF	\$325.00	\$35,750.00	\$195.00	\$21,450.00	\$220.00	\$24,200.00	\$380.00	\$41,800.00
32	466-2049	WINGWALL (PW) (HW=5FT)	1.0	EA	\$8,600.00	\$8,600.00	\$6,350.00	\$6,350.00	\$8,000.00	\$8,000.00	\$7,000.00	\$7,000.00
33	466-2050	WINGWALL (PW) (HW=6FT)	1.0	EA	\$14,000.00	\$14,000.00	\$13,000.00	\$13,000.00	\$15,000.00	\$15,000.00	\$12,000.00	\$12,000.00
34	466-2051	WINGWALL (PW) (HW=7FT)	1.0	EA	\$17,000.00	\$17,000.00	\$14,000.00	\$14,000.00	\$21,000.00	\$21,000.00	\$15,000.00	\$15,000.00
35	466-2052	WINGWALL (PW) (HW=8FT)	1.0	EA	\$17,500.00	\$17,500.00	\$18,400.00	\$18,400.00	\$23,000.00	\$23,000.00	\$21,000.00	\$21,000.00
36	466-2053	WINGWALL (PW) (HW=9FT)	3.0	EA	\$23,000.00	\$69,000.00	\$21,600.00	\$64,800.00	\$31,000.00	\$93,000.00	\$24,000.00	\$72,000.00

BID	TECH SPEC	DESCRIPTION	BID	UNIT	RGM CONST	TRUCTORS	DAN WILLIAM	IS COMPANY	ANDERSON	COLUMBIA	CASH CONS	TRUCTION
ITEM	SPEC		QUANTITY	MEASURE	UNIT COST	AMOUNT BID	UNIT COST	AMOUNT BID	UNIT COST	AMOUNT BID	UNIT COST	AMOUNT BID
37	466-2055	WINGWALL (PW) (HW=11FT)	1.0	EA	\$32,000.00	\$32,000.00	\$28,500.00	\$28,500.00	\$49,000.00	\$49,000.00	\$32,000.00	\$32,000.00
38	466-2056	WINGWALL (PW) (=12FT)	2.0	EA	\$33,000.00	\$66,000.00	\$31,000.00	\$62,000.00	\$52,000.00	\$104,000.00	\$40,000.00	\$80,000.00
39	467-2172	SET (TY I)(S=3 FT)(HW=3FT)(6:1)(P)	2.0	EA	\$5,600.00	\$11,200.00	\$5,700.00	\$11,400.00	\$4,400.00	\$8,800.00	\$5,000.00	\$10,000.00
40	467-2177	SET (TY I)(S=4 FT)(HW=3FT)(6:1)(P)	4.0	EA	\$5,700.00	\$22,800.00	\$7,300.00	\$29,200.00	\$4,200.00	\$16,800.00	\$5,500.00	\$22,000.00
41	467-2178	SET (TY I)(S=4 FT)(HW=4FT)(6:1)(P)	10.0	EA	\$6,700.00	\$67,000.00	\$8,650.00	\$86,500.00	\$4,400.00	\$44,000.00	\$7,500.00	\$75,000.00
42	467-2183	SET (TY I)(S=5 FT)(HW=4FT)(6:1)(P)	2.0	EA	\$8,000.00	\$16,000.00	\$9,595.00	\$19,190.00	\$6,800.00	\$13,600.00	\$8,000.00	\$16,000.00
43	467-2188	SET (TY I)(S=6 FT)(HW=4FT)(6:1)(P)	2.0	EA	\$8,500.00	\$17,000.00	\$10,580.00	\$21,160.00	\$9,400.00	\$18,800.00	\$9,000.00	\$18,000.00
44	467-2286	SET (TY II)(18 IN)(RCP)(6:1)(P)	20.0	EA	\$925.00	\$18,500.00	\$485.00	\$9,700.00	\$550.00	\$11,000.00	\$1,100.00	\$22,000.00
45	467-2288	SET (TY II)(24 IN)(RCP)(6:1)(P)	8.0	EA	\$1,200.00	\$9,600.00	\$830.00	\$6,640.00	\$850.00	\$6,800.00	\$1,500.00	\$12,000.00
46	467-2294	SET (TY II)(48 IN)(RCP)(6:1)(P)	2.0	EA	\$5,900.00	\$11,800.00	\$4,630.00	\$9,260.00	\$6,900.00	\$13,800.00	\$6,000.00	\$12,000.00
47	467-2365	SET (TY II)(DES 6)(RCP)(6:1)(P)	4.0	EA	\$6,800.00	\$27,200.00	\$4,885.00	\$19,540.00	\$3,500.00	\$14,000.00	\$7,000.00	\$28,000.00
48	467-2371	SET (TY II)(DES 1)(RCP)(6:1)(P)	2.0	EA	\$1,600.00	\$3,200.00	\$980.00	\$1,960.00	\$2,700.00	\$5,400.00	\$1,600.00	\$3,200.00
49	467-WC01	SET (TY II)(DES 5)(RCP)(6:1)(P)	2.0	EA	\$5,600.00	\$11,200.00	\$3,935.00	\$7,870.00	\$3,300.00	\$6,600.00	\$5,500.00	\$11,000.00
50	496-2004	REMOV STR (SET)	58.0	EA	\$325.00	\$18,850.00	\$280.00	\$16,240.00	\$100.00	\$5,800.00	\$400.00	\$23,200.00
51	496-2005	REMOV STR (WINGWALL)	10.0	EA	\$2,200.00	\$22,000.00	\$2,025.00	\$20,250.00	\$1,000.00	\$10,000.00	\$1,000.00	\$10,000.00
52	496-2007	REMOV STR (PIPE)	1,112.0	LF	\$11.00	\$12,232.00	\$12.15	\$13,510.80	\$8.00	\$8,896.00	\$25.00	\$27,800.00
53	500-2001	MOBILIZATION	1.0	LS	\$300,000.00	\$300,000.00	\$150,000.00	\$150,000.00	\$300,000.00	\$300,000.00	\$80,000.90	\$80,000.90
54	502-2001	BARRICADES, SIGNS, AND TRAFFIC HANDLING	9.0	MO	\$2,000.00	\$18,000.00	\$4,090.00	\$36,810.00	\$11,000.00	\$99,000.00	\$4,000.00	\$36,000.00
55	506-2002	ROCK FILTER DAMS (INSTALL) (TY 2)	853.0	LF	\$13.00	\$11,089.00	\$15.20	\$12,965.60	\$20.00	\$17,060.00	\$25.00	\$21,325.00
56	506-2009	ROCK FILTER DAMS (REMOVE)	853.0	LF	\$2.75	\$2,345.75	\$3.00	\$2,559.00	\$6.00	\$5,118.00	\$5.00	\$4,265.00
57	506-2016	CONSTRUCTION EXITS (INSTALL) (TY 1)	300.0	SY	\$7.00	\$2,100.00	\$7.70	\$2,310.00	\$8.00	\$2,400.00	\$15.00	\$4,500.00
58	506-2019	CONSTRUCTION EXITS (REMOVE)	300.0	SY	\$2.10	\$630.00	\$2.45	\$735.00	\$6.00	\$1,800.00	\$5.00	\$1,500.00
59	506-2024	BACKHOE WORK (EROSION & SEDM CONT)	150.0	HR	\$55.00	\$8,250.00	\$61.45	\$9,217.50	\$70.00	\$10,500.00	\$52.00	\$7,800.00
60	506-2034	TEMPORARY SEDIMENT CONTROL FENCE	5,447.0	LF	\$1.65	\$8,987.55	\$1.90	\$10,349.30	\$2.00	\$10,894.00	\$2.50	\$13,617.50
61	530-2005	INTERSECTIONS (ACP)	378	SY	\$50.00	\$18,900.00	\$66.75	\$25,231.50	\$54.00	\$20,412.00	\$100.00	\$37,800.00
62	530-2010	DRIVEWAYS (CONC)	395	SY	\$65.00	\$25,675.00	\$67.75	\$26,761.25	\$52.00	\$20,540.00	\$60.00	\$23,700.00
63	530-2011	DRIVEWAYS (ACP)	1,359	SY	\$31.00	\$42,129.00	\$20.00	\$27,180.00	\$24.00	\$32,616.00	\$55.00	\$74,745.00
64	530-2012	DRIVEWAYS (SURF TREAT)	432.0	SY	\$26.00	\$11,232.00	\$11.00	\$4,752.00	\$17.00	\$7,344.00	\$15.00	\$6,480.00
65	530-2017	TURNOUTS (ACP)	160.0	SY	\$30.00	\$4,800.00	\$49.80	\$7,968.00	\$54.00	\$8,640.00	\$60.00	\$9,600.00
66	540-2001	MTL W-BEAM GD FEN (TIM POST)	2,112.5	LF	\$20.00	\$42,250.00	\$15.85	\$33,483.13	\$14.00	\$29,575.00	\$17.00	\$35,912.50
67	540-2003	MTL THRIE-BEAM GD FEN (TIM POST)	50.00	LF	\$43.00	\$2,150.00	\$34.80	\$1,740.00	\$30.00	\$1,500.00	\$30.00	\$1,500.00
68	540-2005	TERMINAL ANCHOR SECTION	10.00	EA	\$410.00	\$4,100.00	\$725.00	\$7,250.00	\$700.00	\$7,000.00	\$500.00	\$5,000.00
69	540-2011	MTL BEAM GD FEN TRANS (THRIE-BEAM)	2.00	EA	\$340.00	\$680.00	\$1,515.00	\$3,030.00	\$1,400.00	\$2,800.00	\$800.00	\$1,600.00
70	540-2014	MTL W-BEAM GD FEN (LOW FILL CULVERT)	75.0	LF	\$55.00	\$4,125.00	\$43.70	\$3,277.50	\$40.00	\$3,000.00	\$40.00	\$3,000.00
71	542-2001	REMOVING METAL BEAM GUARD FENCE	700.0	LF	\$2.65	\$1,855.00	\$1.15	\$805.00	\$1.00	\$700.00	\$2.00	\$1,400.00
72	544-2001	GUARDRAIL END TREATMENT (INSTALL)	10.0	EA	\$2,000.00	\$20,000.00	\$2,440.90	\$24,409.00	\$2,200.00	\$22,000.00	\$2,500.00	\$25,000.00

11WC915-HNTB_Bid_Analysis-20110901.xls Page 7 of 9

BID ITEM	TECH SPEC	DESCRIPTION	BID QUANTITY	UNIT MEASURE	RGM CONS	TRUCTORS	DAN WILLIAM	S COMPANY	ANDERSON	COLUMBIA	CASH CONS	TRUCTION
IIEW	SPEC		QUANTITY	MEASURE	UNIT COST	AMOUNT BID	UNIT COST	AMOUNT BID	UNIT COST	AMOUNT BID	UNIT COST	AMOUNT BID
73	544-2003	GUARDRAIL END TREATEMENT (REMOVE)	6.0	EA	\$725.00	\$4,350.00	\$121.40	\$728.40	\$130.00	\$780.00	\$200.00	\$1,200.00
74	552-2001	WIRE FENCE (TY A)	502.0	LF	\$4.50	\$2,259.00	\$5.15	\$2,585.30	\$10.00	\$5,020.00	\$7.00	\$3,514.00
75	560-2001	MAILBOX INSTALLATION (SINGLE)	6	EA	\$160.00	\$960.00	\$185.00	\$1,110.00	\$160.00	\$960.00	\$180.00	\$1,080.00
76	560-2002	MAILBOX INSTALLATION (DOUBLE)	3	EA	\$320.00	\$960.00	\$236.00	\$708.00	\$200.00	\$600.00	\$350.00	\$1,050.00
77	560-2003	MAILBOX INSTALLATION (MULTIPLE)	5	EA	\$525.00	\$2,625.00	\$546.00	\$2,730.00	\$450.00	\$2,250.00	\$550.00	\$2,750.00
78	644-2001	INS SM RD SN SUP&AM TY 10BWG(1) SA(P)	3	EA	\$350.00	\$1,050.00	\$471.75	\$1,415.25	\$400.00	\$1,200.00	\$350.00	\$1,050.00
79	644-2004	INS SM RD SN SUP&AM TY 10BWG(1) SA(T)	1	EA	\$375.00	\$375.00	\$490.00	\$490.00	\$425.00	\$425.00	\$400.00	\$400.00
80	644-2056	RELOCATE SM RD SN SUP & AM TY 10BWG	13	EA	\$300.00	\$3,900.00	\$416.50	\$5,414.50	\$360.00	\$4,680.00	\$400.00	\$5,200.00
81	644-2061	RELOCATE SM RD SN SUP & AM (HIST MRKR)	1	EA	\$400.00	\$400.00	\$427.00	\$427.00	\$360.00	\$360.00	\$500.00	\$500.00
82	658-2260	INSTL DEL ASSM (D-SW)SZ (TYC)GF1	34	EA	\$21.00	\$714.00	\$16.35	\$555.90	\$24.00	\$816.00	\$20.00	\$680.00
83	658-2314	INSTL OM ASSM (OM-2X)(WC) GND	54	EA	\$47.00	\$2,538.00	\$42.55	\$2,297.70	\$52.00	\$2,808.00	\$45.00	\$2,430.00
84	662-2113	WK ZN PAV MRK SHT TERM (TAB) TY W	460	EA	\$2.10	\$966.00	\$2.70	\$1,242.00	\$1.00	\$460.00	\$2.00	\$920.00
85	662-2115	WK ZN PAV MRK SHT TERM (TAB) TY Y-2	460	EA	\$2.10	\$966.00	\$2.70	\$1,242.00	\$1.00	\$460.00	\$2.00	\$920.00
86	666-2002	REFL PAV MRK TY I (W) 4" (BRK)(090MIL)	4,510	LF	\$0.37	\$1,668.70	\$0.42	\$1,894.20	\$0.47	\$2,119.70	\$0.50	\$2,255.00
87	666-2011	REFL PAV MRK TY I (W) 4" (SLD)(090 MIL)	18,213	LF	\$0.37	\$6,738.81	\$0.42	\$7,649.46	\$0.37	\$6,738.81	\$0.50	\$9,106.50
88	666-2035	REFL PAV MRK TY I (W) 8" (SLD)(090 MIL)	10	LF	\$2.10	\$21.00	\$2.43	\$24.30	\$2.00	\$20.00	\$2.50	\$25.00
89	666-2047	REFL PAV MRK TY I (W) 24" (SLD)(090 MIL)	250	LF	\$6.35	\$1,587.50	\$7.40	\$1,850.00	\$10.00	\$2,500.00	\$7.00	\$1,750.00
90	666-2104	REFL PAV MRK TY I (Y) 4" (BRK)(090 MIL)	4,270	LF	\$0.37	\$1,579.90	\$0.42	\$1,793.40	\$0.47	\$2,006.90	\$0.40	\$1,708.00
91	666-2110	REFL PAV MRK TY I (Y) 4" (SLD)(090 MIL)	19,229	LF	\$0.37	\$7,114.73	\$0.42	\$8,076.18	\$0.44	\$8,460.76	\$0.40	\$7,691.60
92	666-2131	REFL PAV MRK TY I (Y) 24" (SLD)(090 MIL)	190	LF	\$6.35	\$1,206.50	\$7.40	\$1,406.00	\$7.00	\$1,330.00	\$7.00	\$1,330.00
93	666-2142	REFL PAV MRK TY II (W) 4" (BRK)	4,510	LF	\$0.13	\$586.30	\$0.15	\$676.50	\$0.16	\$721.60	\$0.15	\$676.50
94	666-2145	REFL PAV MRK TY II (W) 4" (SLD)	18,213	LF	\$0.13	\$2,367.69	\$0.15	\$2,731.95	\$0.18	\$3,278.34	\$0.15	\$2,731.95
95	666-2153	REFL PAV MRK TY II (W) 8" (SLD)	10	LF	\$1.10	\$11.00	\$1.21	\$12.10	\$1.60	\$16.00	\$1.20	\$12.00
96	666-2157	REFL PAV MRK TY II (W) 24" (SLD)	250	LF	\$2.65	\$662.50	\$3.03	\$757.50	\$4.00	\$1,000.00	\$3.00	\$750.00
97	666-2176	REFL PAV MRK TY II (Y) 4" (BRK)	4,270	LF	\$0.13	\$555.10	\$0.15	\$640.50	\$0.16	\$683.20	\$0.20	\$854.00
98	666-2178	REFL PAV MRK TY II (Y) 4" (SLD)	19,229	LF	\$0.12	\$2,307.48	\$0.13	\$2,499.77	\$0.21	\$4,038.09	\$0.15	\$2,884.35
99	666-2185	REFL PAV MRK TY II (Y) 24" (SLD)	190	LF	\$2.65	\$503.50	\$3.03	\$575.70	\$4.00	\$760.00	\$3.00	\$570.00
100	672-2012	REFL PAV MRKR TY I-C	227	EA	\$3.85	\$873.95	\$4.43	\$1,005.61	\$5.00	\$1,135.00	\$4.00	\$908.00
101	672-2015	REFL PAV MRKR TY II-A-A	515.0	EA	\$3.85	\$1,982.75	\$4.43	\$2,281.45	\$5.00	\$2,575.00	\$4.00	\$2,060.00
	TOTAL COST	OF BASE BID ADJUSTED FOR CORRECTNESS				\$3,265,523.25		\$3,281,532.66		\$3,377,183.50		\$3,721,092.00
	ACTUAL BAS	SE BID PROPOSAL				\$3,265,523.25		\$3,281,532.66		\$3,377,183.50		\$3,721,092.00
	ADJUSTMEN	T DIFFERENCE				\$0.00		\$0.00		\$0.00		\$0.00

Williamson County Road Bond Program 11WC915 - SH 29 Two-Way Left Turn Lane HNTB Bid Tabulation September 13, 2011

BID ITEM	TECH DESCRIPTION	BID QUANTITY	UNIT MEASURE	RGM CONSTRUCTORS		DAN WILLIAMS COMPANY		ANDERSON COLUMBIA		CASH CONSTRUCTION		
	0. 20		ζον	2, 135KE	UNIT COST	AMOUNT BID	UNIT COST	AMOUNT BID	UNIT COST	AMOUNT BID	UNIT COST	AMOUNT BID
	Acknowledger	nent of Addenda:										
	Addendum No	o. 1				Yes		Yes		Yes		Yes
	Addendum No	. 2				Yes		Yes		Yes		Yes
	Bid Bond					Yes		Yes		Yes		Yes
	Conflict of Inte	erest Statement				Yes		Yes		Yes		Yes
	References (M	limimum of three)				Yes		Yes		Yes		Yes